Math Section
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Q1:

If 
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, what is the value of x ?

A. 30

B. 3

C. 
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Answer: 
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Q2:

If each of the 12 teams participating in a certain tournament plays exactly one game with each of the other teams, how many games will be played?

A. 144

B. 132

C. 66

D. 33

E. 23

Answer: 

------------------------------------------------------------------------------------------------------------

Q3:

What is the remainder when the two-digit, positive integer x is divided by 3 ?

(1)
  The sum of the digits of x is 5.

(2)
  The remainder when x is divided by 9 is 5.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q4:

If the product of the digits of the two-digit positive integer n is 2, what is the value of n ?

(1)
  n is odd.

(2)
  n is greater than 20.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q5:

In 1993 Mr. Jacobs paid 4.8 percent of his taxable income in state taxes.  In 1994 what percent of Mr. Jacobs’ taxable income did he pay in state taxes?

(1)
  In 1993 Mr. Jacobs’s taxable income was $42,500.

(2)
  In 1994 Mr. Jacobs paid $232 more in state taxes than he did in 1993.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q6:

What is the greatest prime factor of 2100 – 296 ?

A. 2

B. 3

C. 5

D. 7

E. 11

Answer: 

------------------------------------------------------------------------------------------------------------

Q7:

A school administrator will assign each student in a group of n students to one of m classrooms.  If 3 < m < 13 < n, is it possible to assign each of the n students to one of the m classrooms so that each classroom has the same number of students assigned to it?

(1)
It is possible to assign each of 3n students to one of m classrooms so that each classroom has the same number of students assigned to it.

(2)
It is possible to assign each of 13n students to one of m classrooms so that each classroom has the same number of students assigned to it.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 
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Q8:
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The figure shown above represents a modern painting that consists of four differently colored rectangles, each of which has length l and width w.  If the area of the painting is 4,800 square inches, what is the width, in inches, of each of the four rectangles?

A. 15

B. 20

C. 25

D. 30

E. 40

Answer: 
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Q9:

If xyz > 0, is xy2z3 < 0 ?

(1)
  y < 0

(2)
  x > 0

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q10:

If the average (arithmetic mean) of positive integers x, y, and z is 10, what is the greatest possible value of z ?

A. 8

B. 10

C. 20

D. 28

E. 30

Answer: 
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Q11:

If n is positive, which of the following is equal to 
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A. 1
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Answer: 
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Q12:

What was the percent increase in the average (arithmetic mean) contribution per member of a certain public radio station from 1985 to 1995 ?

(1)
Total contributions by members increased from $505,210 in 1985 to $1,225,890 in 1995.

(2)
  The number of members exactly doubled from 1985 to 1995.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q13:

43 + 43 + 43 + 43 =

A. 44
B. 46
C. 48
D. 49
E. 412
Answer: 

------------------------------------------------------------------------------------------------------------

Q14:

In the first week of the year, Nancy saved $1.  In each of the next 51 weeks, she saved $1 more than she had saved in the previous week.  What was the total amount that Nancy saved during the 52 weeks?

A. $1,326

B. $1,352

C. $1,378

D. $2,652

E. $2,756

Answer: 

------------------------------------------------------------------------------------------------------------

Q15:

Is xy + z = z, is 
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(1)
  x ≠ 0

(2)
  y = 0

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q16:

Is 
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 = 2 ?

(1)
  k2 = 4

(2)
  k = 
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A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q17:

If n is the greatest positive integer for which 2n is a factor of 10!, then n =

A. 2

B. 4

C. 6

D. 8

E. 10

Answer: 

------------------------------------------------------------------------------------------------------------

Q18:

Pat invested x dollars in a fund that paid 8 percent annual interest, compounded annually.  Which of the following represents the value, in dollars, of Pat’s investment plus interest at the end of 5 years? 

A. 5(0.08x)

B. 5(1.08x)

C. [1 + 5(0.08)]x
D. (1.08)5x
E. (1.08x)5
Answer: 
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Q19:

How many 4-digit positive integers are there in which all 4 digits are even?

A. 625

B. 600

C. 500

D. 400

E. 256

Answer: 

------------------------------------------------------------------------------------------------------------

Q20:
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In the figure shown, triangle ABC is inscribed in the circle.  What is the circumference of the circle?

(1)
  AB is a diameter of the circle.

(2)
  The ratio of the lengths of BC, AC, and AB, respectively, is 3 : 4 : 5.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q21:

Color X ink is created by blending red, blue, green, and yellow inks in the ratio 6 : 5 : 2 : 2.  What is the number of liters of green ink that was used to create a certain batch of color X ink?

(1)
The amount of red ink used to create the batch is 2 liters more than the amount of blue ink used to create the batch.

(2)
  The batch consists of 30 liters of color X ink.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q22:

Of the books standing in a row on a shelf, an atlas is the 30th book from the left and the 33rd book from the right.  If 2 books to the left of the atlas and 4 books to the right of the atlas are removed from the shelf, how many books will be left on the shelf?

A. 56

B. 57

C. 58

D. 61

E. 63

Answer: 

------------------------------------------------------------------------------------------------------------

Q23:

The average (arithmetic mean) score on a test taken by 10 students was x.  If the average score for 5 of the students was 8, what was the average score, in terms of x, for the remaining 5 students who took the test?

A. 2x - 8

B. x - 4

C. 8 - 2x
D. 16 - x
E. 8 - 
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Q24:
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The graph of which of the following equations is a straight line that is parallel to line l in the figure above?

A. 3y – 2x = 0

B. 3y + 2x = 0

C. 3y + 2x = 6

D. 2y – 3x = 6

E. 2y + 3x = -6

Answer: 

------------------------------------------------------------------------------------------------------------

Q25:

If each of the 8 employees working on a certain project received an award, was the amount of each award the same?

(1)
  The standard deviation of the amounts of the 8 awards was 0.

(2)
  The total amount of the 8 awards was $10,000.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q26:

What is the value of x2 ?

(1)
  5 < x2 < 10

(2)
  x is an integer.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q27:

A box contains exactly 24 balls, of which 12 are red and 12 are blue.  If two balls are to be picked from this box at random and without replacement, what is the probability that both balls will be red?

A. 
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Answer: 
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Q28:

If x2 – 2 < 0, which of the following specifies all the possible values of x ?

A. 0 < x < 2

B. 0 < x < 
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C. -
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 < x < 
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D. -2 < x < 0

E. -2 < x < 2

Answer: 

------------------------------------------------------------------------------------------------------------

Q29:

Joanna bought only $0.15 stamps and $0.29 stamps.  How many $0.15 stamps did she buy?

(1)
  She bought $4.40 worth of stamps.

(2)
  She bought an equal number of $0.15 stamps and $0.29 stamps.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q30:

Machine A, operating alone at its constant rate, produces 500 feet of a particular fiber in 2 hours.  Machine B, operating alone at its constant rate, produces 500 feet of the same fiber in 3 hours.  Machine C, operating alone at its constant rate, produces 500 feet of the same fiber in 5 hours.  How many hours will it take machines A, B, and C, operating together at their respective constant rates, to produce 1,000 feet of the fiber?


A. 
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Answer: 
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Q31:

A certain right triangle has sides of length x, y, and z, where x < y < z.  If the area of this triangular region is 1, which of the following indicates all of the possible values of y ?

A. y > 
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E. y < 
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Answer: 
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Q32:

What is the value of pr ?

(1)
  p = 1

(2)
  r = 1

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q33:

During a spring season, a certain glacier surged at the rate of 1 mile per 100 days.  What was its rate in feet per hour?  (1 mile = 5,280 feet)

A. 
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C. 55

D. 110

E. 22,000

Answer: 
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Q34:

If 2x2 – y2 = 2xy, then (x + y)2 =

A. x2
B. 3x2
C. 4xy
D. 2y2
E. – y2
Answer: 

------------------------------------------------------------------------------------------------------------

Q35:

The total charge to rent a car for one day from Company J consists of a fixed charge of $15.00 plus a charge of $0.20 per mile driven.  The total charge to rent a car for one day from Company K consists of a fixed charge of $20.00 plus a charge of $0.10 per mile driven.  Is the total charge to rent a car from Company J for one day and drive it x miles less than $25.00 ?

(1)
The total charge to rent a car from Company K for one day and drive it x miles is less than $25.00.

(2)
  x < 50

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q36:

If x, y, and z are positive integers, is xz even?

(1)
  xy is even.

(2)
  yz is even.

A. Statement (1) ALONE is sufficient, but statement (2) alone is not sufficient.

B. Statement (2) ALONE is sufficient, but statement (1) alone is not sufficient.

C. BOTH statements TOGETHER are sufficient, but NEITHER statement ALONE is sufficient.

D. EACH statement ALONE is sufficient.

E. Statements (1) and (2) TOGETHER are NOT sufficient.

Answer: 

------------------------------------------------------------------------------------------------------------

Q37:

In a large investment firm, 25 percent of the male employees and 30 percent of the female employees are stockbrokers.  If 60 percent of the firm’s employees are males, what is the ratio of the number of male stockbrokers to the number of female stockbrokers?

A. 6 to 5

B. 5 to 4

C. 3 to 2

D. 4 to 3

E. 5 to 2

Answer: 

------------------------------------------------------------------------------------------------------------
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